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1. A and B started a business by investing Rs.
36,000 and
Rs. 63,000. Find the share of each, out the the
annual profit of Rs. 5,500 ?

A rFkk B ,d O;kikj esa Øe'k% :i;s 36,000 rFkk :i;s
63,000 dh iw¡th fuos'k djrs gSaA Kkr djsa :i;s 5,500 ds
okf"kZd ykHk esa izR;sd dk fgLlk D;k gksxk \
(a) Rs. 2,000 and Rs. 3,500
(b) Rs. 2,500 and Rs. 3,500
(c) Rs. 3,500 and Rs. 2,500
(d) None of these

2. A starts some business with Rs. 50,000. After 3
months B joins him with Rs. 70,000. At the end
of the year, in what ratio should they share the
profit ?

A :i;s 50,000 dh iw¡th fuos'k djds ,d O;kikj 'kq:
djrk gSA 3 ekg ds ckn B :i;s 70,000 fuos'k dj ml
O;kikj esa 'kkfey gks tkrk gSA Kkr djsa o"kZ ds vUr esa mUgsa
fd vuqikr esa ykHk izkIr gksxk  \
(a) 1 : 3 (b) 3 : 2
(c) 1 : 5 (d) None of these

3. A started a business by investing Rs. 36,000. After
4  month  B joined him with some investment.
At the end of the year, the total profit was divided
between them in the ratio 9 : 7. How much
capital was invested by B in the business ?

A ,d O;kikj dh 'kq:vkr essa dqy :i;s 36,000 dh iw¡th
fuos'k djrk gSA 4 ekg ds ckn B dqN iw¡th fuos'k dj ml
O;kikj esa 'kkfey gks tkrk gS rFkk 1 o"kZ ds vUr esa nksuksa
Øe'k% 9 : 7 ds vuqikr esa ykHk izkIr djrs gSaA Kkr djsa B
us fdruh iw¡th fuos'k dh ?

(a) Rs. 40,000 (b) Rs. 42,000
(c) Rs. 41,000 (d) None of these

4. A started some business with Rs. 26,000. After
3 months B joined him with Rs. 16,000. After
some more time C joined them with Rs. 25,000.
At the end of the year, out of a total profit of Rs.
15,453, C gets Rs. 3,825 as his share. How many
months after B joined the business, did C join ?

A us :i;s 26,000 dh iw¡th fuos'k djds ,d O;kikj 'kq:
fd;kA 3 ekg ds ckn B :i;s 16,000 fuos'k dj ml O;kikj
esa 'kkfey gks x;k vkSj mlds dqN le; ckn C Hkh :i;s
25,000 fuos'k dj O;kikj esa 'kkfey gks x;kA ;fn :i;s
15,453 ds ykHk esa C dk fgLlk :i;s 3,825 gS rks Kkr djsa

C us B ds 'kkfey gksus ds fdrus ekg ckn O;kikj esa izos'k
fd;k ?
(a) 3 (b) 4
(c) 5 (d) None of these

5. A, B and C started a business with their
investments in the ratio 1 : 2 : 4. After 6 month
A invested the half amount more as before and
B invested same the amount as before while C
withdraw ¼th of the their investments. Find the
ratio of their profits at the end of the year ?

A, B rFkk C us viuh iw¡th Øe'k% 1 : 2 : 4 ds vuqikr esa
fuos'k djds ,d O;kikj 'kq: fd;kA 6 ekg ds ckn A us
fuosf'kr iw¡th dk vk/k vf/d Hkkx vkSj B us viuh fuosf'kr
iw¡th ds cjkcj /ujkf'k vkSj fuos'k dh] tcfd C us viuh
fuosf'kr iw¡th dk ¼ Hkkx okil fudky fy;kA Kkr djsa o"kZ
ds vUr esa mUgsa fdl vuqikr esa ykHk feysxk ?
(a) 5 : 12 : 13 (b) 5 : 11 : 14
(c) 5 : 12 : 14 (d) None of these

6. A started a business with Rs. 52,000 and after 4
months B joined him with Rs. 39,000. At the
end of the year, out of the total profit B received
total 20,000 including 25% of the profit as
commission for managing the business. What
amount did A receive ?

A us O;k;kj dh 'kq:vkr esa :i;s 52,000 dh iw¡th fuos'k
dhA 4 ekg ds ckn B :i;s 39,000 dh iw¡th fuos'k dj ml
O;kikj esa 'kkfey gks tkrk gSA o"kZ ds vUr esa O;kikj lapkyu
ds fy, dqy ykHk dk 25% lfgr :i;s 20,000 dk dqy
fgLlk B dks fn;k x;kA Kkr djsa A dks fdruk ykHk feysxk?
(a) Rs. 20,000 (b) Rs. 10,000
(c) Rs. 15,000 (d) None of these

7. A working partner gets 20% as his commission
of the profit after his commission is paid. If the
working parter's commission is Rs. 8,000. Then
what is the total profit in the business ?

,d lfØ; ikVZuj dks dqy ykHk esa ls mldk deh'ku nsus ds
ckn] 'ks"k ykHk dk 20% deh'u ds :i esa fn;k tkrk gSA ;fn
lfØ; ikVZuj dk deh'ku :i;s 8,000 gS] rks Kkr djsa
O;kikj esa dqy ykHk fdruk gqvk ?

(a) Rs. 47,000 (b) Rs. 45,000
(c) Rs. 48,000 (d) None of these

8. Rakesh Yadav Reader Publication makes a profit
of 9,00,000, 20% of which is paid as taxes. If the
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rest is divided among the partners P, Q and R in
the ratio of 1 : 1½ : 2, then the shares of P, Q
and R respectively ?

jkds'k ;kno jhMj ifCyds'ku :i;s 9,00,000 dk ykHk
dekrh gS] ftlds 20% Hkkx dk Hkqxrku dj ds :i esa fd;k
tkrk gSA ;fn 'ks"k ykHk P, Q rFkk R dks Øe'k% 1 : 1½ :

2 ds vuqikr esa fn;k tkrk gS] rks Kkr djsa izR;sd dk fgLlk
D;k gS ?
(a) Rs. 2,40,000, Rs. 3,20,000, Rs. 1,60,000
(b) Rs. 3,20,000, Rs. 2,40,000, Rs. 1,60,000
(c) Rs. 1,60,000, Rs. 3,20,000, Rs. 2,40,000
(d) Rs. 1,60,000, Rs. 2,40,000, Rs. 3,20,000

9. We have to divide a sum of Rs. 13,950 among
three persons A, B and C. B must get the double
of A's share and C must get Rs. 50 less than the
double of B's share. The share of A will be ?

:i;s 13,950 dh jkf'k dks A, B rFkk C esa bl izdkj ck¡Vk
tkrk gS fd B dk fgLlk A ds fgLls dk nksxquk gks rFkk C dk
fgLlk B ds nksxqus fgLls esa :i;s 50 de gksA Kkr djsa A dk
fgLlk D;k gS ?
(a) Rs. 1950 (b) Rs. 1981.25
(c) Rs. 2000 (d) Rs. 2007.75

10. A started business with Rs. 45,000 and B joined
afterward with 30,000. If the profit at the end of
the one year was divided in the ratio 2 : 1
respectively, then B would have joined A for
business after ?

A us O;kikj dh 'kq:vkr esa :i;s 45,000 dh iw¡th fuos'k
dh rFkk dqN le; ckn B :i;s 30,000 fuos'k dj ml
O;kikj esa 'kkfey gks tkrk gSA ;fn ,d o"kZ ds vUr esa mUgsa
2 : 1 ds vuqikr esa ykHk izkIr gqvk gks rks Kkr djsa B fdrus
le; ds ckn O;kikj esa 'kkfey gqvk ?
(a) 1 month (b) 2 month
(c) 3 month (d) 4 month

11. X and Y are partners in a business. They invest
in the ratio 5 : 6, at the end of 8 months X
withdraws his capital. If they receive profits in
the ratio of 5 : 9. Find how long Y's investment
was used ?

X rFkk Y us ,d O;kikj esa Øe'k% 5 : 6 ds vuqikr esa iw¡th
fuos'k dhA 8 ekg ds ckn X us viuh iw¡th okil fudky yhA
;fn mUgsa 5 : 9 ds vuqikr esa ykHk izkIr gqvk gks] rks Kkr djsa
Y us viuh iw¡th fdrus le; ds fy, fuos'k dh ?
(a) 12 months (b) 10 months
(c) 15 months (d) 14 months

12. Four milkman rented a pasture. M put to graze
16 cows for 3 months and N 42 cows for 4
months, O 18 cows for 6 months and P 42 cows
for 2 months. If M's share of rent be Rs. 2,400,
the rent paid by O is ?

pkj nw/okyksa us ,d pkjkxkg fdjk;s ij fy;kA M us 16 xk;ksa
dks 3 ekg rd] N us 42 xk;ksa dks 4 ekg rd] O us 18 xk;ksa

dks 6 ekg rd rFkk P us 42 xk;ksa dks 2 ekg rd pjk;kA ;fn
fdjk;s dh jkf'k esa M dk fgLlk :i;s 2,400 gS] rks Kkr djsa
O dk fgLlk D;k gksxk ?
(a) Rs. 3,200 (b) Rs. 4,200
(c) Rs. 4,000 (d) Rs. 5,400

13. A, B and C subscribe Rs. 47,000 for a business.
If A subscribes Rs. 7,000 more than B and B Rs.
5,000 more than C, then out of total profit of
Rs. 4,700, C receives ?

A, B rFkk C us ,d O;kikj esa dqy :i;s 47,000 dh iw¡th
fuos'k dhA ;fn A us B ls :i;s 7,000 vf/d rFkk B us C
ls :i;s 5,000 vfèkd fuos'k fd,] rks Kkr djsa :i;s
4,700 ds dqy ykHk esa C dk fgLlk D;k gksxk ?
(a) Rs. 1,200 (b) Rs. 4,500
(c) Rs. 1,000 (d) None of these

14. Rs. 11,250 are divided among A, B and C so that
A may receive one half as much as B and C
together receive and B receives one-fourth of
what A and C together receive. The share of A is
more than that of B by ?

:i;s 11,250 dh jkf'k dks A, B rFkk C esa bl izdkj ck¡Vk
x;k fd A dk fgLlk] B rFkk C ds dqy fgLls dk ½ gks rFkk
B dk fgLlk] A rFkk C ds dqy fgLls dk ¼ gks] rks Kkr djsa
fd A dk fgLlk B ds fgLls dk fdruk vf/d gS ?
(a) Rs. 2,500 (b) Rs. 1,500
(c) Rs. 1,800 (d) Rs. 650

15. Two partners X and Y start a business by
investing Rs. 50,000 and Rs. 40,000 respectively.
What will the ratio of their profits at the end of
the year ?

X rFkk Y us ,d O;kikj esa Øe'k% :i;s 50,000 rFkk :i;s
40,000 dh iw¡th fuos'k dhA Kkr djssa o"kZ ds vUr esa mUgsa
fdl vuqikr esa ykHk feysxk ?
(a) 5 : 4 (b) 3 : 6
(c) 4 : 5 (d) 6 : 3

16. X starts a business with Rs. 25,000. After 4
months Y joins him with Rs. 20,000. What will
be the ratio of their profit at the end of the year?

X us :i;s 25,000 dh iw¡th fuos'k djds ,d O;kikj 'kq:
fd;kA 4 ekg ds ckn Y :i;s 20,000 fuos'k dj ml O;kikj
esa 'kkfey gks x;kA Kkr djsa o"kZ ds vUr esa mUgsa fdl vuqikr
esa ykHk feysxk ?
(a) 4 : 8 (b) 5 : 10
(c) 15 : 8 (d) 9 : 18

17. A starts a business with Rs. 21,000 and later B
joins him with Rs. 36,000. After how many
months did B join if the profit is distributed in
equal ratio ?

A us ,d O;kikj dh 'kq:vkr esa :i;s 21,000 dh iw¡th
fuos'k dh rFkk dqN le; ds ckn B :i;s 36,000 fuos'k dj
ml O;kikj esa 'kkfey gks x;kA ;fn izR;sd dks leku ykHk
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izkIr gqvk gks] rks Kkr djsa B fdrus le; ds ckn O;kikj esa
'kkfey gqvk ?
(a) 5 (b) 7
(c) 6 (d) 9

18. A and B started a business investing amount of
Rs. 1,85,000 and Rs. 2,25,000 respectively. If B's
share in the profit earned by them is Rs. 9,000
then what is the total profit earned by them
together ?

A rFkk B us Øe'k% :i;s 1,85,000 rFkk :i;s 2,25,000

dh iw¡th fuos'k djds ,d O;kikj 'kq: fd;kA ;fn B us :i;s
9,000 dk ykHk izkIr fd;k] rks Kkr djsa O;kikj esa dqy ykHk
fdruk gqvk ?
(a) Rs. 17,400 (b) Rs. 16,400
(c) Rs. 16,800 (d) Rs. 17,800

19. A and B started a boutique investing amounts
of Rs. 35,000 and Rs. 56,000 respectively. If A's
share in the profit earned by them need is Rs.
45,000, then what is the total profit earned ?

A rFkk B us ,d cqVhd dh 'kq:vkr esa Øe'k% :i;s 35,000

rFkk :i;s 56,000 dh iw¡th fuos'k dhA ;fn A us :i;s
45,000 dk ykHk izkIr fd;k] rks Kkr djsa O;kikj esa dqy
ykHk fdruk gqvk ?
(a) Rs. 81,000 (b) Rs. 1,27,000
(c) Rs. 72,000 (d) Rs. 1,17,000

20. A and B invested amounts of Rs. 40,000 and Rs.
75,000 respectively. At the end of the year they
got a total dividend of Rs. 46,000. What is A
share in the dividend ?

A rFkk B us Øe'k% :i;s 40,000 rFkk :i;s 75,000 dh
jkf'k fuos'k dhA 5 o"kZ ds vUr esa mu nksuksa us dqy :i;s
46,000 dh jkf'k izkIr dhA Kkr djsa bl jkf'k esa A dk fgLlk
D;k gksxk ?
(a) Rs. 16,500 (b) Rs. 15,500
(c) Rs. 15,000 (d) Rs. 16,000

21. A invested an amount of Rs. 25,000 and started
a business. B joined him after one year with an
amount of Rs. 30,000. After two years from
starting the business, they earned the profit of
Rs. 46,000. What will be B's share in the profit?

A us O;kikj dh 'kq:vkr esa :i;s 25,000 dh iw¡th fuos'k
dhA ,d o"kZ ds ckn B :i;s 30,000 fuos'k dj ml O;kikj
esa 'kkfey gks x;kA Kkr djsa O;kikj dh 'kq:vkr ds 2 o"kZ ckn
:i;s 46,000 ds dqy ykHk esa B dk fgLlk D;k gksxk ?
(a) Rs. 14000 (b) Rs. 12000
(c) Rs. 17250 (d) Rs. 20000

22. Mr. A opened a workshop investing 40,000. He
invested additional amount of 10,000 every year.
After two years his student B joined him with
an amount of 85,000. Thereafter B did not invest
any additional amount. On completion of four
year from the opening of workshop they earned

an amount of 1,95,000. What will be A's share
in the earning ?

A us 40,000 dh iw¡th fuos'k djds ,d odZ'kkWi 'kq: dhA
mlus izR;sd o"kZ :i;s 10,000 vfrfjDr fuos'k fd,A 2 o"kZ
ckn mldk f'k"; B :i;s 85,000 fuos'k dj ml O;kikj esa
'kkfey gks x;k rFkk B us dksbZ vfrfjDr jkf'k fuos'k ugha dhA
odZ'kkWi dh 'kq:vkr ds 4 o"kZ ckn izkIr :i;s 1,95,000

ds dqy ykHk esa A dk fgLlk D;k gksxk ?
(a) Rs. 85,000 (b) Rs. 1,10,000
(c) Rs. 1,35,000 (d) Rs. 95,000

23. X and Y enter into a partnership with their
capitals in the ratio 7 : 9. At the end of 8th
month, X withdraws his capital. If they receive
the profit in the ratio 8 : 9, find how long Y's
capital was used. ?

X rFkk Y us ,d O;kikj esa Øe'k% 7 : 9 ds vuqikr esa viuh
iw¡th fuos'k dhA 8 ekg ds ckn X us viuh fuosf'kr iw¡th
okil fudky yh rFkk mu nksusa us 8 : 9 ds vuqikr esa ykHk
izkIr fd;kA Kkr dhft, Y us viuh iw¡th fdrus le; ds fy,
fuos'k dh ?
(a) 4 months (b) 6 months
(c) 7 months (d) 8 months

24. X and Y enter into a partnership with capitals
in the ratio 5 : 6 and at the end of 8 months, X
withdraws. If they receive profit in the ratio 5 :
9. Find how long Y's capital was used ?

X rFkk Y us ,d O;kikj esa Øe'k% 5 : 6 ds vuqikr esa viuh
iw¡th fuos'k dhA 8 ekg ds ckn X us viuh fuosf'kr iw¡th
okil fudky yh rFkk mu nksuksa us Øe'k% 5 : 9 ds vuqikr
esa ykHk izkIr fd;kA Kkr djsa Y us viuh iw¡th fdrus le;
ds fy, fuos'k dh ?
(a) 8 months (b) 9 months
(c) 11 months (d) 12 months

25. Two partners invest Rs. 1,25,000 and Rs. 85,000
respectively in a business and agree that 60% of
the profit should be divided equally between them
and the remaining profit is to be divided into
ratio of their capitals. If one partner gets Rs.
300 more than the other. Find the total profit
made in the business ?

nks O;fDr;ksa us ,d O;kikj dh 'kq:vkr esa Øe'k% :i;s
1,25,000 rFkk :i;s 85,000 dh iw¡th fuos'k dhA lk>snkjh
dh 'krZ ;g fd dqy ykHk dk 60% leku :i esa rFkk 'ks"k
ykHk fuosf'kr iw¡th ds vuqikr esa ck¡Vk tk,xkA ;fn ,d
lk>snkj dks nwljs lk>snkj ls :i;s 300 vf/d feyrs gSa rks
Kkr djsa O;kikj esa dqy fdruk ykHk gqvk ?
(a) Rs. 3739.50 (b) Rs. 3937.50
(c) Rs. 3749.50 (d) Rs. 3947.50

26. Two brother invested Rs. 50,000 and Rs. 70,000
respectively in a business and agreed that 70%
of the profit should be divided equally between
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them and the remaining profit in the ratio of
investment. If one brother gets Rs. 90 more than
the other. Find the total profit made in the
business ?

nks HkkbZ;ksa us ,d O;kikj dh 'kq:vkr esa Øe'k% :i;s
50,000 rFkk :i;s 70,000 dh iw¡th fuos'k dhA lk>snkjh dh
'krZ ;g fd dqy ykHk dk 70% leku :i esa rFkk 'ks"k ykHk
fuosf'kr iw¡th ds vuqikr esa ck¡Vk tk,xkA ;fn ,d HkkbZ dks
nwljs ls :i;s 90 vf/d feyrs gS] rks Kkr djsa O;kikj esa dqy
fdruk ykHk gqvk ?
(a) Rs. 1200 (b) Rs. 1400
(c) Rs. 1600 (d) Rs. 1800

27. The investments made by X and Y are in the
ratio 3 : 2. If 5% of total profit is donated and X
gets Rs. 8,550 as his share of profit then what is
the amount of total profit ?

X rFkk Y us viuh iw¡th Øe'k% 3 : 2 ds vuqikr esa fuos'k
djrs gSA ;fn dqy ykHk dk 5% nku ik=k esa tek fd;k x;k
rFkk X us :i;s 8,550 dk ykHk izkIr fd;k] rks dqy ykHk
Kkr djsa ?
(a) Rs. 14000 (b) Rs. 15000
(c) Rs. 11050 (d) Rs. 12020

28. A, B and C enter into a partnership with capital
in the ratio 5 : 6 : 8. At the end of the business
term, they received the profit in the ratio 5 : 3 :
12. Find the ratio of time for which they
contributed their capitals ?

A, B vkSj C us ,d O;kikj 'kq: fd;k rFkk 5 : 6 : 8 ds
vuqikr esa viuh iw¡th fuos'k dhA ;fn mUgksaus 5 : 3 : 12 ds
vuqikr esa ykHk izkIr fd;k] rks Kkr djsa mUgksaus viuh iw¡th
fdl vof/ ds vuqikr esa fuos'k dh ?
(a) 2 : 1 : 3 (b) 1 : 2 : 3
(c) 2 : 3 : 1 (d) 3 : 2 : 1

29. X and Y entered into a partnership, investing
Rs. 16,000 and Rs. 12,000 respectively. After 3
months X withdraw Rs. 5,000, while Y invested
5,000 more. After 3 months more Z joins the
business with a capital of Rs. 21,000. After a
year they obtained a profit of Rs. 26,400. By what
amount does the share of Y exceed the share of
Z ?

X rFkk Y us Øe'k% :i;s 16,000 rFkk :i;s 12,000 dh
iw¡th fuos'k djds ,d O;kikj 'kq: fd;kA 3 ekg ds ckn X
us :i;s 5,000 okil fudky fy, tcfd Y us :i;s 5,000

vkSj fuos'k fd,A mlds 3 ekg ds ckn Z :i;s 21,000

fuos'k dj ml O;kikj esa 'kkfey gks x;kA Kkr djsa :i;s
26,400 ds okf"kZd ykHk esa Y dk fgLlk] Z ds fgLls ls
fdruk vf/d gS ?
(a) Rs. 3600 (b) Rs. 3800
(c) Rs. 4600 (d) Rs. 4800

30. X, Y and Z are partner in a business. If X's

capital is twice of Y's capital and Z's capital is
three times to that of Y's capital then find the
ratio of their investments ?

X, Y rFkk Z us ,d lkFk feydj ,d O;kikj 'kq: fd;kA ;fn
X dh fuosf'kr iw¡th Y dh fuosf'kr iw¡th dk nksxquk gS rFkk Y
dh fuosf'kr iw¡th Z dh fuosf'kr iw¡th dk rhu xquk gS] rks Kkr
djsa X, Y rFkk Z dh fuosf'kr iw¡th dk vuqikr D;k gS ?
(a) 6 : 3 : 1 (b) 3 : 8 : 1
(c) 4 : 9 : 3 (d) 3 : 1 : 5

31. X and Z invest capital in the ratio of 2 : 1 while
X and Y invest capital in the ratio of 3 : 2. If
their annual profit is Rs. 1,57,300 then what is
Y share ?

X, Y rFkk Z us ,d O;kikj 'kq: fd;k ftlesa X rFkk Z us 2
: 1 ds vuqikr esa tcfd X rFkk Y us 3 : 2 ds vuqikr esa
viuh iw¡th fuos'k dhA ;fn okf"kZd ykHk :i;s 1,57,300 gS
rks blesa Y dk fgLlk D;k gksxk ?

(a) Rs. 48,400 (b) Rs. 56,800
(c) Rs. 48,810 (d) Rs. 47,782

32. X, Y and Z enter into partnership. X invests ¼
part of the total capital for one-fourth of the
time. Y contributes one fifth of the capital for
half of the time. Z contributes the remaining
capital for the whole time. How should they
divided a profit of Rs. 1140 ?

X us fdlh O;kikj esa yxus okyh dqy iw¡th dk ¼ Hkkx ¼

le; ds fy,] Y us 
1

5
 Hkkx ½ le; ds fy, rFkk Z us 'ks"k

iw¡th iwjs le; ds fy, fuos'k dhA ;fn dqy ykHk :i;s 1140

gS] rks izR;sd dk fgLlk D;k gksxk ?

(a) Rs. 100, Rs. 160, Rs. 880
(b) Rs. 110, Rs. 140, Rs. 860
(c) Rs. 120, Rs. 150, Rs. 840
(d) Rs. 140, Rs. 170, Rs. 830

33. A, B and C are three partners in a business. A,
whose money has been used for 4 months, claims

1

8
 of the profit, B whose money has been used

for 6 months, claims 
1

3
 of the profit. C had

invested Rs. 1560 for 8 months. How much
money did A and B contribute ?

A, B rFkk C us ,d O;kikj 'kq: fd;kA A us viuh iw¡th 4

ekg ds fy, fuos'k dj dqy ykHk dk 
1

8
 Hkkx izkIr fd;k rFkk

B us viuh iw¡th 6 ekg ds fy, fuos'k dj dqy ykHk dk 
1

3

Hkkx izkIr fd;kA C us :i;s 1560 dh iw¡th 8 ekg ds fy,
fuos'k dhA Kkr dhft, A rFkk B us fdruh iw¡th fuos'k dh ?

(a) Rs. 740, Rs. 1250 (b) Rs. 730, Rs. 1240
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(c) Rs. 720, Rs. 1280 (d) Rs. 750, Rs. 1260

34. In a partnership X invests 
1

6
th of the capital

for 
1

6
th of the time, Y invests 

1

3
rd capital for

1

3
rd time and Z invests the remaining capital

for the whole time. If at the end of the year the
profit earned is Rs. 23,000 then what will be Y
share ?

fdlh O;kikj esa yxus okyh dqy iw¡th dk 
1

6
 Hkkx X us 

1

6

le; ds fy,] Y us 
1

3
 Hkkx 

1

3
 le; ds fy, rFkk Z us 'ks"k

iw¡th iwjs le; ds fy, fuos'k dhA ;fn O;kikj esa okf"kZd ykHk
:i;s 23,000 izkIr gqvk] rks blesa Y dk fgLlk D;k gksxk ?
(a) Rs. 5500 (b) Rs. 5000
(c) Rs. 6000 (d) Rs. 4000

35. A and B are two partners in a firm sharing the
profit in the ratio 4 : 5. If the firm earns a profit
of Rs. 14,130, then profit to be received by B ?

A vkSj B ,d dEiuh ds lk>snkj gSaA muds ykHk dk vuqikr
4 : 5 gSA ;fn daiuh dks dqy :i;s 14,130 dk ykHk gqvk
rks B dks ykHk dk fdruk fgLlk feyk ?
(a) Rs. 6280 (b) Rs. 7850
(c) Rs. 1570 (d) Rs. 3140

36. X and Y take a grass ground on lease for Rs. 300
for grazing their animals. If X grazes 10 animals
for 5 weeks and Y grazes 15 animals for 7 weeks.
The ratio in which they should divide the rent
is?

vius i'kqvksa dks pjkus ds fy, X vkSj Y us ,d ?kkl&eSnku
dks :i;s 300 fdjk;s ij fy;kA ;fn X us 10 i'kqvksa dks 5
lIrkg pjk;k rFkk Y us 15 i'kqvksa dks 7 lIrkg rd pjk;k]
rks mUgsa vkil esa fdl vuqikr esa fdjk;k ck¡Vuk pkfg, ?

(a) 1 : 2 (b) 10 : 21
(c) 11 : 20 (d) 2 : 1

37. A and B started a business investing amounts
in the ratio of 2 : 3. If A has an additional
amount of Rs. 10,000 their ratio of investment
would have been 3 : 2. The amount invested by A
was ?

A, B us ,d O;kikj 'kq: fd;kA bl O;kikj esa mUgksaus 2 : 3

ds vuqikr esa fuos'k fd;kA ;fn A 10,000 :i;s vkSj fuos'k
djrk gS rks muds fuos'k dk vuqikr 3 : 2 gks tkrk gS rks A
us fdrus :i, fuos'k fd, ?

(a) Rs. 8000 (b) Rs. 12000
(c) Rs. 18000 (d) Rs. 20000

38. The ratio of investments of two partners X and
Y is 11 : 12 and the ratio of their profit is 2 : 3.

If X invested the money for 8 months, then the
time for which Y invested the money is ?

nks lk>snkj X vkSj Y ds fuos'k dk vuqikr 11 : 12 gS rFkk
muds ykHk dk vuqikr 2 : 3 gSA ;fn X us 8 eghus ds fy,
fuos'k fd;k gS] rks Y us fdrus eghus ds fy, fuos'k fd;k gS?
(a) 8 months (b) 9 months
(c) 10 months (d) 11 months

39. A, B and C started a business with Rs. 47,000.
A puts in Rs. 5,000 more than B ad B Rs. 3,000
more than C. The share of A out of the profit of
Rs. 14,100 will be ?

A, B vkSj C us :i;s 47,000 ds lkFk ,d O;kikj 'kq:
fd;kA A us B ls :i;s 5,000 vf/d fn, vkSj B us C ls
:i;s 3,000 vf/d fn,A :i;s 14,100 ds dqy ykHk esa ls
A dks fdruk ykHkka'k feysxk ?

(a) Rs. 3,600 (b) Rs. 4,500
(c) Rs. 6,000 (d) Rs. 6,300

40. A and B enter into partnership. At the end of 9
months B withdraws but A's capitals is used for
one month more. If they receive profit in the ratio
of 5 : 6, then the ratio of their capital is ?

A vkSj B feydj ,d O;kikj 'kq: djrs gSaA 9 eghus ds ckn
B O;kikj NksM+ nsrk gS ysfdu A dh iw¡th ,d eghus vkSj jgrh
gSA ;fn nksuksa ds ykHk dk vuqikr 5 : 6 gS] rks nksuksa dh iw¡th
dk vuqikr Kkr dhft, ?

(a) 3 : 4 (b) 4 : 3
(c) 5 : 6 (d) 6 : 5

41. A, B and C hired a car for Rs. 4,160. A used it
for 7 hours, B for 8 hours and C used it for 11
hours. The rent shared by A will be ?

A, B vkSj C us ,d dkj dks :i;s 4,160 esa fdjk, ij
fy;kA A us 7 ?kaVs] B us 8 ?kaVs rFkk C us 11 ?kaVs bldk mi;ksx
fd;k] rks A dks fdruk fdjk;k nsuk iM+sxk ?

(a) Rs. 960 (b) Rs. 1120
(c) Rs. 1260 (d) Rs. 1760

42. A, B and C are three partners in a business. The

profit share of A is 
3

16
 of the profit and B's share

is 
1

4
 of the profit. If B receives Rs. 243, then the

amount received by B will be ?

,d O;kikj esa A, B vkSj C rhu lk>snkj gSa] A dk ykHkka'k

dqy ykHk dk 
3

16
 gS rFkk B dk ykHkka'k dqy ykHk dk 

1

4

gSA ;fn C dks :i;s 243 dk ykHkka'k feyk gks rks B dks
fdruh jkf'k feyh ?

(a) Rs. 90 (b) Rs. 96
(c) Rs. 108 (d) Rs. 120

43. A is a working partner and B is a sleeping partner
in business A puts in Rs. 5,000 and B puts in



 BRANCH :  MUKHERJEE NAGAR DELHI / NATHU PURA DELHI / SHAHDARA DELHI / SIKANDRABAD

M o b .  :  0 9 7 1 1 3 7 6 0 0 7,  0 8 3 6 8 1 0 8 2 7 6 [ 441 ]

THATHAGAT

IN
STITUTE

Rs. 6,000. A received 15% of the profit for
managing the business and the rest is divided
in proportion to their capitals. The amount
received by A out of the profit of Rs. 880 in all
is ?

,d O;kikj esa A lfØ; lk>hnkj gS rFkk B fuf"Ø; lk>snkj
gSA A :i;s 5,000 yxkrk gS rFkk B :i;s 6,000 yxkrk gSA
A dks ykHk dk 15% O;kikj laHkkyus ds fy, feyrk gS vkSj
'ks"k ykHk muds iw¡th ds vuqikr esa muds chp c¡V tkrk gSA
:i;s 880 ds dqy ykHk esa ls A dks fdruh jkf'k feysxh ?

(a) Rs. 132 (b) Rs. 340
(c) Rs. 472 (d) Rs. 492

44. A starts business with a capital of Rs. 14,000.
Five months later B joins ad further two months
later C joins them. If the profit sharing ratio in
the end of year is 4 : 3 : 2, then the money
invested by C was ?

A :i;s 14,000 dh iw¡th ds lkFk ,d O;kikj 'kq: djrk gSA
ik¡p eghus ds ckn B O;kikj esa 'kkfey gksrk gS rFkk mlds
2 eghus ckn C O;kikj esa 'kkfey gksrk gSA ;fn lky ds var
esa muds ykHk dk vuqikr 4 : 3 : 2 gS] rks C us fdrus i,s
fuos'k fd, Fks ?
(a) Rs. 18,000 (b) Rs. 16,800
(c) Rs. 18,600 (d) Rs. 10,800

45. A, B and C become partners in a business. A

contributes 
1

3
rd of the capital for 

1

4
th of the

time B contributes 
1

5
th of the capital for 

1

6
th

of the time and C the rest of the capital for the
whole time. If the profit is Rs. 1,820, then the
A's share in profit is ?

A, B rFkk C ,d O;kikj esa lk>snkj curs gSaA A iw¡th dk

1

3
Hkkx] 

1

4
 le; ds fy, nsrk gS rFkk B iw¡th dk 

1

5
 Hkkx

1

6
 le; ds fy, nsrk gS vkSj 'ks"k iw¡th C iwjs le; ds fy,

nsrk gSA ;fn dqy ykHk :i;s 1,820 dk gS] rks A dk ykHkka'k
Kkr djsa ?
(a) Rs. 130 (b) Rs. 260
(c) Rs. 292 (d) Rs. 304

46. In a business A and B gained some amount in a
certain ratio. B and C received the profit in the
ratio as that of A and B. If A received Rs. 6,400
and C received Rs. 10,000. Find the share of B ?

,d O;kikj esa A rFkk B dks ,d fuf'pr vuqikr esa ykHk
gqvkA B rFkk C dks Hkh mlh vuqikr esa ykHk gqvk ftl
vuqikr esa A rFkk B dks gqvk FkkA fn ykHk essa ls A dks :i;s
6,400 rFkk C dks :i;s 10,000 feys rks B dks fdrus :i;s
feys ?

(a) Rs. 2,000 (b) Rs. 4,000
(c) Rs. 8,000 (d) Rs. 10,000

47. The capital of A and B are Rs. 20,000 and Rs.
4,000 respectively. A is entitled to be paid a salary
of Rs. 1,200 per annum being a working partner.
If the gross profit for one year is Rs. 1,800, their
shares in the profit are respectively ?

A rFkk B dh iw¡th Øe'k% :i;s 20,000 rFkk :i;s 4,000

gS] A dks :i;s 1,200 okf"kZd osru O;kikj laHkkyus ds fy,
feyrs gSaA ;fn ,d o"kZ dk dqy ykHk :i;s 1,800 gS] rks nksuksa
dk ykHkka'k fdruk gksxk ?
(a) Rs. 500, Rs. 100 (b) Rs. 1200, Rs. 600
(c) Rs. 1700, Rs. 1300 (d) Rs. 1,700, Rs. 100

48. A and B are partners who share profit and loss
in the ratio of 3 : 2. They agree to take C into
partnership of one-fifth share of profit. The new
profit sharing ratio will be ?

A rFkk B nks lk>snkj gS] tks ykHk vkSj gkfu dks vkil esa 3

: 2 esa ck¡Vrs gSaA os C dks Hkh lk>snkjh esa 
1

5
 ykHkka'k ij ysus

dks jkth gks tkrs gSa] rks ykHkka'k dk u;k vuqikr D;k gksxk ?
(a) 9 : 6 : 5 (b) 5 : 6 : 9
(c) 6 : 5 : 9 (d) 9 : 5 : 6

49. A and B share profits and losses in a firm in the
ratio of 3 : 2 centered in this firm as a new
partner; his profit sharing ratio is ¼. If C has
taken his share of profit from A and B in equal
ratio, then the new profit sharing ratio will be ?

,d daiuh esa A vkSj B ds ykHk ;k gkfu dk vuqikr 3 : 2

esa ck¡Vrs gSaA ,d u, lk>snkj ds :i esa C daiuh esa vkrk gS
mlds ykHk dh fgLlsnkjh ¼ Hkkx gSA ;fn C us A vkSj B ls
leku vuqikr esa viuk ykHkka'k fy;k gS rks ykHkka'k dk u;k
vuqikr D;k gksxk ?
(a) 19 : 11 : 1 (b) 19 : 11 : 10
(c) 10 : 11 : 9 (d) 10 : 11 : 19

50. A, B and C share the profit in the ratio of 2 : 3 :
7. If the average gain is Rs. 8,000, then B's share
is ?

A, B rFkk C ds ykHkka'k dks vuqikr 2 : 3 : 7 gSA ;fn vkSlr
ykHk :i;s 8,000 gS] rks B dk ykHkka'k Kkr djsa ?
(a) Rs. 2,000 (b) Rs. 1,000
(c) Rs. 1,500 (d) Rs. 6,000

51. A, B and C share profit in the ratio of 
1 1 7

: :
4 6 12

.

If C retires, they share the profit of C in the ratio
of 4 : 5 respectively. The new profit sharing ratio
of A and B will be ?

A, B rFkk C ds ykHkka'k dk vuqikr 
1 1 7

: :
4 6 12

 gSA ;fn C

lsokfuo`r gks tkrk gS] rks os C ds fgLls ds ykHk dks vkil
esa Øe'k% 4 : 5 ds vuqikr esa ck¡Vrs gSaA rks A rFkk B ds
ykHkka'k dk u;k vuqikr D;k gksxk ?
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(a) 55 : 53 (b) 53 : 55
(c) 5 : 3 (d) 3 : 5

52. A, B and C enter into partnership. A puts in Rs.
1,200 for 6 months, B Rs. 800 for 7 months and
C Rs. 600 for 8 months. The share of A out of a
profit of Rs. 396 is ?

A, B vkSj C feydj ,d O;kikj 'kq: djrs gSA A us 6 eghus
ds fy, :i;s 1200, B us 7 eghus ds fy, :i;s 800 rFkk
C us 8 eghus ds fy, :i;s 600 dk fuos'k fd;kA rks :i;s
396 ds ykHk esa ls A dk ykHkka'k fdruk gksxk ?
(a) Rs. 162 (b) Rs. 62
(c) Rs. 108 (d) Rs. 18

53. A and B enter into partnership investing Rs.
48,000 and Rs. 60,000 respectively. After 3
months A withdraws Rs. 8,000 while B invests
Rs. 6,000 after 6 months of starting of business.
Out of the total amount of profit, if A gets Rs.
12,000 as his share at the end of the year total
profit is ?

A vkSj B us ,d O;kikj esa Øe'k% :i;s 48,000 rFkk :i;s
60,000 dk fuos'k fd;kA 3 ekg ds ckn A :i;s 8,000

fudky ysrk gS tcfd O;kikj 'kq: gksus ds 6 ekg ds ckn B
:i;s 6,000 vkSj fuos'k djrk gSA ;fn o"kZ ds vUr esa dqy
ykHk esa ls A dks :i;s 12,000 feys rks dqy YkkHk Kkr djsa?
(a) Rs. 24,000 (b) Rs. 30,000
(c) Rs. 36,000 (d) Rs. 37,000

54. M, P and Q together started a business. M
invested Rs. 6,500 for 6 months, P invested Rs.
8,400 for 5 months, P invested Rs. 10,000 for 3
months. M is working member for which he gets
5% of total profit extra. If the total gain is Rs.
7,400 then Q's share is ?

M, P rFkk Q us feydj ,d O;kikj 'kq: fd;kA M us 6

eghus ds fy, :i;s 6,500 dk fuos'k fd;k] P us 5 eghus
ds fy, :i;s 8,400 dk fuos'k fd;k rFkk Q us 3 eghus ds
fy, :i;s 10,000 dk fuos'k fd;kA O;kikj laHkkyus ds fy,
M dks dqy ykHk dk 5% Hkh feyrk gSA ;fn dqy ykHk :i;s
7,400 gS] rks Q dk fgLlk Kkr djsa ?
(a) Rs. 1,900 (b) Rs. 2,100
(c) Rs. 3,200 (d) Data are incomplete

55. A, B and C jointly start a business A puts in Rs.
15,000 for 8 months, B puts in Rs. 12,000 for 9
months and C puts in Rs. 8,000 for the whole
year. In the end of the year there is a profit of
Rs. 10,800. The difference between A's share and
C's share in the profit will be ?

A, B rFkk C us feydj ,d O;kikj 'kq: fd;kA A us :i;s
15,000, 8 eghus ds fy,] B us :i;s 12,000, 9 eghus ds
fy, rFkk C us :i;s 8,000 iwjs o"kZ ds fy, yxk,A ;fn lky
ds vUr esa :i;s 10,800 dk ykHk gqvk] rks A rFkk C ds
ykHk dk varj D;k gksxk ?

(a) Rs. 800 (b) Rs. 600
(c) Rs. 1200 (d) Rs. 1800

56. A started a business by investing Rs. 50,000. After
6 months B joined her by investing Rs. 75,000.
After its 6 months C joined with Rs. 1,25,000.
What is the ratio of profit shared after 2 years
among A, B and C ?

A us :i;s 50,000 ds fuos'k ds lkFk ,d O;kikj 'kq: fd;kA
6 eghus ds i'pkr~ B :i;s 75,000 ds lkFk O;kikj esa
'kkfey gqvk vkSj blds 6 eghus ckn C :i;s 1,25,000 ds
lkFk O;kikj esa 'kkfey gqvkA 2 o"kZ ds i'pkr~ A, B o C ds
ykHkka'k dk vuqikr Kkr dhft, ?
(a) 4 : 5 : 6 (b) 8 : 9 : 10
(c) 8 : 9 : 12 (d) 4 : 5 : 8

57. A starts a business with Rs. 45,000. After 6
months B enters in his business with Rs. 80,000.
After one year C invests Rs. 1,20,000. In what
ratio the profit will be divided among A, B and C
after two years ?

:i;s 45,000 ds lkFk A us ,d O;kikj 'kq: fd;kA 6 eghus
ds ckn :i;s 80,000 ds lkFk B O;kikj esa 'kkfey gks x;kA
1 o"kZ ds i'pkr~ C O;kikj esa :i;s 1,20,000 fuos'k djrk
gS] rks A, B rFkk C ds chp ykHk fdl vuqikr esa ck¡Vk
tk,xk?
(a) 9 : 16 : 24 (b) 3 : 4 : 4
(c) 3 : 4 : 8 (d) 3 : 3 : 8

58. Three partner A, B and C started a business by
investing Rs. 48,000 each. After 10 months B
left the business and after 12 months C left the
business. If total earned profit is Rs. 5,250, then
find the share of A, B and C ?

A, B vkSj C rhu lk>snkj :i;s 48,000 dh leku iw¡th
fuos'k djds ,d O;kikj 'kq: djrs gSaA ysfdu A, 6 eghus
ckn] B 10 eghus ckn rFkk C 12 eghus ckn O;kikj ls vyx
gks tkrk gSA ;fn dqy ykHk :i;s 5,250 dk gqvk gks rks mlesa
ls A, B vkSj C dk fgLlk fdruk gksxk  ?
(a) Rs. 1125, Rs. 1825, Rs. 2250
(b) Rs. 1125, Rs. 1800, Rs. 2200
(c) Rs. 1125, Rs. 1875, Rs. 2250
(d) Rs. 1175, Rs. 1256, Rs. 2350

59. Three partners started a business by investing
Rs. 60,000, Rs. 80,000 and Rs. 1,20,000
respectively. First partner left the business after
4 months, second after 9 months and third
remained in the business for the whole year. At
the end of year the total profit earned is Rs.
1,60,480 then find their shares of profit ?

rhu lk>snkj Øe'k% :i;s 60,000, :i;s 80,000 rFkk :i;s
1,20,000 dk fuos'k djds ,d O;kikj 'kq: djrs gSaA igyk
lk>snkj 4 eghus rd] nwljk 9 eghus rd rFkk rhljk iwjs o"kZ Hkj
O;kikj esa jgkA ;fn o"kZ ds vUr esa dqy ykHk :i;s 1,60,480

gks rks rhuksa lk>snkjksa dks fdrus&fdrus :i;s izkIr gksaxs ?
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(a) Rs. 16840, Rs. 44188, Rs. 92686
(b) Rs. 16048, Rs. 48144, Rs. 96288
(c) Rs. 16042, Rs. 14842, Rs. 9862
(d) Rs. 15000, Rs. 13423, Rs. 7562

60. A, B and C have invested a sum of Rs. 12500 in
a business. B invested Rs. 15000 more than A
and C invested Rs. 20000 more than B. If the
total earned profit is Rs. 37450 at the end of

year, then find their share of profit ?

fdlh O;kikj esa A, B rFkk C us dqy :i;s 12500 fuos'k
fd,A mlesa B us A ls :i;s 15000 vf/d fuos'k fd, rFkk
C us B ls :i;s 20000 vf/d fuos'k fd;sA ;fn o"kZ ds vUr
esa dqy :i;s 37450 dk ykHk gqvk gks rks mlesa ls izR;sd
dk fgLlk fdruk gksxk ?
(a) Rs. 7490, Rs. 11984, Rs. 17976
(b) Rs. 8480, Rs. 7550, Rs. 8560
(c) Rs. 7940, Rs. 7054, Rs. 17500
(d) Rs. 5100, Rs. 6943, Rs. 7140

61. A started a business by investing Rs. 42000. After
few months B joined by investing Rs. 49000. If
at the end of year A got Rs. 9000 ad B got Rs.
7000 as a share of their profit. Then after how
many months A joined the business ?

A us :i;s 42000 fuos'k djds ,d O;kikj 'kq: fd;kA
mlds dqN eghus ckn B :i;s 49000 fuos'k djds O;kikj
esa 'kkfey gks x;kA ;fn o"kZ ds vUr esa ykHk ds fgLls esa ls
A dks :i;s 9000 rFkk B dks :i;s 7000 izkIr gqvk gks] rks
B fdrus eghus ckn O;kikj esa 'kkfey gqvk ?
(a) 1 month (b) 4 months
(c) 2 months (d) 3 months

62. A started a business by investing some money
and B invested Rs. 5000 more than that of A. A
remained in business for 5 months and B
remained in business 1 month more than A. Out
of the total profit of Rs. 26000, B got Rs. 6000
more than A. Find the capitals invested A and
B ?

A us dqN :i;s fuos'k djds ,d O;kikj 'kq: fd;k rFkk B
us A ls :i;s 5000 vf/d fuos'k fd;sA A, 5 eghus rd
O;kikj esa jgk rFkk B mlls 1 eghuk vf/d O;kikj esa jgkA
dqy ykHk :i;s 26000 dk gqvk ftlesa ls B dks A ls :i;s
6000 vf/d izkIr gq,A Kkr dhft, fd A rFkk B us
fdruh&fdruh iw¡th fuos'k dh ?
(a) Rs. 29000, Rs. 18000
(b) Rs. 25000, Rs. 30000
(c) Rs. 15000, Rs. 10,000
(d) Rs. 15000, Rs. 20000

63. A, B and C invested money in the ratio of in a
business. After 4 months A doubled his
investment and after 6 months halves his
investment. If the total profit at the end of year
be Rs. 34650 then find the share of each profit ?

A, B rFkk C us fdlh O;kikj esa iw¡th ds vuqikr esa fuos'k dhA
pkj eghus ckn A us viuh iw¡th dks nwuk dj fn;k rFkk 6
eghus ckn viuh iw¡th dks vk/k dj fn;kA ;fn o"kZ ds vUr
esa 34650 dk ykHk gqvk gks] rks mlesa ls izR;sd dk fgLlk
D;k gksxk ?

(a) Rs. 20000, Rs. 25000, Rs. 18000
(b) Rs. 15500, Rs. 27200, Rs. 20,450
(c) Rs. 22500, Rs. 6750, Rs. 5400
(d) Rs. 10350, Rs. 21540, Rs. 12050

64. A and B started a business by investing Rs. 36000
and Rs. 45000 respectively. After 4 months B

withdraws 
4

9
 of his investment, its 5 months

after she again invested 
11

9
 of its original

investment. If the total earned profit at the end
of the year, is Rs. 117240, then who will get more
money as a share of profit and how much. ?

A vkSj B fdlh O;kikj esa Øe'k% :i;s 36000 rFkk :i;s
45000 yxkdj 'kq:vkr djrs gSaA 4 eghus ckn B viuh

iw¡th dk 
4

9
 Hkkx fudky ysrk gSA mlds 5 eghus ckn og

viuh iw¡th dk 
11

9
 Hkkx iqu% fuos'k dj nsrk gSA ;fn o"kZ ds

vUr esa :i;s 117240 dk ykHk gks] rks ykHk esa ls fdldks
vkSj fdrus :i;s vf/d izkIr gksaxs ?
(a) A Rs. 15,500 (b) B Rs. 12,450
(c) A Rs. 14,245 (d) B Rs. 13,560

65. A, B and C started a business by investing Rs.
24,000, Rs. 32,000 and Rs. 18,000 respectively.
A and B are active partners and get 15% and
12% of total profit and remaining profit is to be
distributed among them in the ratio of their
investment. If C got total Rs. 65,700 as a profit,
what was the total amount of profit ?

A, B rFkk C ,d O;kikj esa Øe'k% :i;s 24,000, :i;s
32,000 rFkk :i;s 18,000 fuos'k djrs gSaA A rFkk B lfØ;
lk>snkj gSa rFkk mudks dqy ykHk dk Øe'k% 15% rFkk 12%

izkIr gksrk gSA 'ks"k ykHk dks muds }kjk fuosf'kr iw¡th ds
vuqikr esa ck¡V fn;k tkrk gSA ;fn C dks dqy :i;s 65,700

izkIr gqvk gks] rks Kkr dhft, fd ykHk dh dqy jkf'k D;k
Fkh ?

(a) Rs. 4,70,000 (b) Rs. 3,70,000
(c) Rs. 3,45,000 (d) Rs. 1,57,000

66. A, B and C hired a pasture. A grazed 12 cows 2
hours every day for 4 months, B grazed 16 cows,
4 hours every day for 6 months and C grazed 6
cows 9 hours everyday for 2 months. If B has
paid Rs. 1152 as a share of fare. Find the amount
of total rent ?
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A, B rFkk C us ,d pjkxkg fdjk;s ij fy;kA A us 12 xk;sa
izfrfnu 2 ?kaVs dh nj ls 4 ekg rd pjkbZA B us 16 xk;sa
izfrfnu 4 xk;sa 9 ?kaVs izfrfnu dh nj ls 2 ekg rd pjkbZ rFkk
C us 6 xk;sa 9 ?kaVs izfrfnu dh nj ls 2 ekg rd pjkbZA ;fn
B us vius fgLls ds :i esa :i;s 1152 fdjk;k fn;k rks Kkr
dhft, fd fdjk;s dh dqy jkf'k D;k gS ?

(a) Rs. 1413 (b) Rs. 1214
(c) Rs. 1764 (d) Rs. 1102

67. A started a business with the capital of Rs. 500.
After 2 months B joined A with Rs. 400. 6 months
after the business started C joined with Rs. 800.
If the total profit earned at the end of the year is
Rs. 444 find the share of their profit ?

A :i;s 500 dh iw¡th ls ,d O;kikj 'kq: djrk gSA 2 eghus
ckn B O;kikj esa :i;s 400 yxkr gSA O;kikj 'kq: gksus ds
6 eghus ckn C :i;s 800 yxkdj lfEefyr gks tkrk gSA ;fn
o"kZ ds vUr esa dqy ykHk :i;s 444 gks] rks mlesa ls izR;sd
dk ykHk fdruk gS ?
(a) Rs. 180, Rs. 120, Rs. 144
(b) Rs. 150, Rs. 130, Rs. 123
(c) Rs. 160, Rs. 141, Rs. 125
(d) Rs. 141, Rs. 110, Rs. 140

68. A and B started a business in partnership by
investing Rs. 10,000 and Rs. 4,000 respectively.
Condition of partnership is that B got Rs. 100
per month for management of the business. After
paying 5% interest on the capital annual profit
has distributed in the ratio of their investment.
Find the share of their profit, if the annual profit
is Rs. 4,000 ?

A vkSj B ,d O;kikj esa Øe'k% :i;s 10,000 vkSj :i;s
4,000 dh iw¡th fuos'k djrs gSaA lk>snkjh dh 'krZ gS fd B
dks O;kikj dh ns[kHkky ds fy, :i;s 100 izfrekg feysaxsA
okf"kZd iw¡th ij 5% izfr o"kZ dh nj ls C;kt dk Hkqxrku djus
ds ckn ykHk dks muds }kjk yxk;h x;h iw¡th ds vuqikr esa
ck¡V fn;k tk,A :i;s 400 ds okf"kZd ykHk esa ls izR;sd dk
fgLlk Kkr dhft, ?

(a) Rs. 3,000 (b) Rs. 2,500
(c) Rs. 1,500 (d) Rs. 2,000

69. A, B and C are partners in a business
partnership. A invested Rs. 4,000 for whole year.
B invested Rs. 6,000 initially but increased this
investment upto Rs. 8,000 at the end of 4
months, while C invested Rs. 8,000 initiallly,
but withdraw Rs. 2,000 at the end of 9 months.
At the end of year total earned profit is Rs. 16,950,
find their share of profit ?

A, B vkSj C ,d O;kikj esa lk>snkj gSaA A iwjs o"kZ ds fy,
:i;s 4,000 yxkrk gSA B vkjEHk esa :i;s 6,000 yxkrk gS
ftls pkj ekg ds vUr esa :i;s 8,000 dj nsrk gSA tcfd
C vkjEHk esa :i;s 8,000 yxkrk gS ijUrq 9 eghus ds vUr
esa :i;s 2,000 fudky ysrk gSA o"kZ ds vUr esa izkIr :i;s
16,950 ds ykHk esa ls izR;sd dk fgLlk Kkr dhft, ?

(a) Rs. 3,600, Rs. 6,600, Rs. 6,750
(b) Rs. 2,000, Rs. 3,050, Rs. 5,400
(c) Rs. 2,450, Rs. 2,460, Rs. 1,456
(d) None of these

70. A, B and C started a business in partnership

and invested in the ratio of 
1 1 1

: :
4 3 6

. After 4

months A withdraw half of his investment and
after its 2 months B withdraw 1/3 of its
investment. If the total earned profit, at the end
of year is Rs. 14,000. Find the share of their
profit ?

A, B rFkk C us lk>snkjh esa ,d O;kikj 'kq: fd;k rFkk os

Øe'k% 
1 1 1

: :
4 3 6

 ds vuqikr esa iw¡th yxkrs gSA 4 ekg ckn A

viuh iw¡th dk vk/k Hkkx fudky ysrk gS rFkk mlds 2 ekg
ckn B us viuh iw¡th ,d&frgkbZ dj nhA ;fn o"kZ ds vUr esa
dqy ykHk :i;s 14,000 gks] rks Kkr dhft, fd izR;sd dk
fgLlk D;k gksxk ?

(a) Rs. 2,500, Rs. 2, 450, Rs. 2,145
(b) Rs. 3,000, Rs. 4,500, Rs. 2,100
(c) Rs. 4,000, Rs. 3,500, Rs. 1,254
(d) Rs. 4,200, Rs. 5,600, Rs. 4,200

Answer Sheet

1. (a) 2. (d) 3. (b) 4. (a) 5. (c) 6. (a) 7. (c) 8. (d) 9. (c) 10. (c)

11. (a) 12. (d) 13. (c) 14. (b) 15. (a) 16. (c) 17. (a) 18. (b) 19. (d) 20. (d)

21. (c) 22. (b) 23. (c) 24. (d) 25. (b) 26. (d) 27. (b) 28. (a) 29. (a) 30. (a)

31. (a) 32. (a) 33. (c) 34. (d) 35. (b) 36. (b) 37. (a) 38. (d) 39. (c) 40. (a)

41. (b) 42. (c) 43. (c) 44. (b) 45. (b) 46. (c) 47. (d) 48. (a) 49. (b) 50. (d)

51. (a) 52. (a) 53. (b) 54. (a) 55. (a) 56. (b) 57. (b) 58. (c) 59. (b) 60. (a)

61. (b) 62. (d) 63. (c) 64. (d) 65. (b) 66. (c) 67. (a) 68. (d) 69. (a) 70. (d)


